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DO NOT WRITE ANYTHING IN THIS BOX 58 aTaq # @y 78 ford

SECTION A WS A

4 A 1. Write a short essay on:

Impact of Climate Change on agriculture and environment.

i OR
e How economic reforms have impacted the lives of Indians. (20 marks)
Bt S gafaw @ staary aftad= & g | (20 3ic)

3rgar
e el 3 9Rdial & Sfvaq &1 e aaifag e & ?
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any remuneration:

One who sees the brighter side of things :
qE St A B Joodd 9T dEA B

c) Tosend back a criminal to the country of his origin :
OUE Bl D W AT ST -

d) That which cannot be seen through : _

Rras am ur @ 2ar a1 g

e) Aremedy forallills :
YT Al & AU ueg g

* Kk % % *

SECTION B @S B

All answers to questions in this Section should be in English only

B.1. Read the following paragraphs and answer the questions given at the end. (25 marks)

India’s national policy on agriculture accords high priority to generation and transfer of agricultural
technologies and reforms in the technology system. The policy also recognizes the role of the private
sector in agricultural research, human resource development, post harvest management and value
addition. Achieving these objectives would require investments in research, extension, as well as
interventions that improve the policy and institutional environment. It will be, therefore, essential to
foster broad-based availability and adoption of improved agricultural technologies through greater

public-private partnerships and closer linkages with various domestic and international sources of
technologies and knowledge.

The competitive ability and income potential of commodity sectors does not depend only on
production improvements. The production to consumption systems of output will have to be extended
for better integration of income and poverty alleviation objectives in a market context. Development
of rural entrepreneurship is inextricably linked to successful rural livelihood improvement approach.
It is essential that we capitalize on the emerging market based entrepreneurial initiative in
agricultural sector, more so for the poor farmers in disadvantaged areas. We need to devise appropr
public-private partnership models to strengthen rural infrastructure to support faster agricult
development, promote value addition, accelerate the growth of agri-business, create employm
rural areas, secure a fair standard of living for the farmers and agricultural workers and their fz

Equally important is deployment of new technologies for rural development. Howey
esses through which new technologies are researched, developed and dissem
ming complex, including the obligations of the regulatory aspects of research

resource intensive, - '
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b)  What would be a viable model for designing technologies for rural development?

c) Without huge investments, how generation and transfer of agricultural technologies and
reforms reach the people ?

d)
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You have lost your scooter/motor-cycle license. Write a complaint to

Officer (SHO) of the local police station,
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Questions from Sr. No. B 3
THREE marks.

to B 8 will carry TWO marks each. Q B 9 will carry !
(Total:15 marks)
B 3. Change the following sentences from the Active Voice to the Passive Voice.

a)  They found her guilty of murder. ]

b)  They are making a noise.

B 4. Correct the following sentences using the correct form of verb.

a) Each of the suspected men were apprehended by police.

——————

b)  Neither his brother nor his sister go to school.

B S Give the meaning of the following phrases and frame sentences to illustrate them.

a) To play second fiddle

b) Nipinthe bud
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 B7. Of the words given in brackets, choose the one that you think is a pr

a) Heisan mechanic. (ingenuous/ingenious)

b)  Only the virtuous experience is true

. Give the antonyms of following words.

(a) Frugal

(b) Dissent .. ..
. Correct the following sentences.

(@) There was no place in the crowded bus.

(b) 1 am waiting here now for an hour.

(c) | have refused the invitation for dinner.

* k & k'*%

SECTION C TS C

Questions C 1 to C 10 carry 2% marks each.

C18 C10 T & el 09A & forw 2% ai ¥ |

C1. Foodisto hungerassleepisto BN
a) Rest b) Night c) Dream d) Bed e) Weariness
e & o O @, 39 died g (Frfefad o2t @ #15 0 9
a) @M b) U@ c) Wl d) B e) u@EE

(choose from

E

. Complete the series.
ZASYBIXC:
I DBl T DIV |
ZA: YB: XC:
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DATE', WZGV, & w0 % 323 3 @ ‘come, &4 m@ T

W ~ o L G = —
h:ch-comblnatlon figure of the rectangle best represents the relati
mosquitoes, ants and insects. Mark with tick (‘/) - relatiol

ST BT I A1 H afiepy
B E ? (V) Fom e |

o) %

b) c)

. Study the example below and answer.
a) A and B are brothers
b) Cis sister of A

c) D is brother of E

d) E is daughter of B
Who is uncle of D? Mark with tick (V)

g b)) A ¢) E d) B e) None of the above

Fretfafead seretr geet 3o fafau |

a) A3NTBYE &

b) C,AdI d&d &

¢) D, E®l S &

d) E, Bl 330 2

D &l =T & & 2 (V) fam @meg

a) D b)A ¢ E d) B e Syl d & AE

'
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C 8.

C9.

Then, answer who is between A and C ? Mark with tick (V)

ond to the left of C

a) B b) E c)D d) cannot be determined
AB.CD.E 3R F #1Heh : 2 qeaferg &t ot iz fobdl gu ueb wabe A 43 8 |

F, AIRD & diw A & |

C.EafRBd g d ¥ |

EDaRCadimd & 2 |

D, C@ ard 3¢ gt Hay ui & ?

@A C® digd &y Ao & (V) fas @ndy

a) B b) E c) D d) fyeifre =& frar s g & |

Which one of the given responses would be a meaningful order of the following? Mark with

tick (V)

A) Child B) Doctor C) lllness D) Medicine E) Hospital
1. BCADE 2. DBACE 3. ACEBD 4. ABCDE

A & i afathaet § & @ ar e aeds g 2 (V) Fe e
A) = B) ffwrs C) dmrdl D) &l E) Srqdre
1. BCADE 2. DBACE 3. ACEBD 4. ABCDE

From the choices given below, select the pair of words which exhikils the same relatiol |
between each pair as in WRITING : PLAGIARISM. Mark with tick (V)

a) Confidence : Deception

b) Money : Misappropriation

c) Gold: Theft

d) Germ : Disease

47 fu mu fea § 4 e & fear adrEm gl @ SifzE @ gt (V
T AR i |
a) fa=am : g
b)  : gEUENT
c) #mr A
d) v - A
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most important reasons.

Wﬁmﬁmqﬁgaﬁfrﬁaﬁlgﬁmsw%lmﬁdmaﬁ
AT B &elel BT & for g e @ &d Aol & | IR § sier-fe
He fear S @ 7 A aq@ ol 91 qeen S |
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C15. What is “Rain Water Harvesting" and why is it important in today’s circumstances? (2 m

aut s gadieor @ 8, ane @ affefy § as @i geagf & ?
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AT

- C16. The Government of India is working on introducing GST (Goods and Service
elaborate on GST and its implications?

I TAHR SHUHEY (A1 e Aelr oY) @) e 3t ar G 1@ & | sfogeh ol o8
M9 = faem & 7

C17. There are many tennis tournaments held in the world. However, 4 of themy
“Grand Slam Titles” and are the top 4 prestigious tournaments in ter
also mention in which country are they held?

faga & &% 2w gefiie s 6 o | afT 37 3 § e
[ '?eﬂtﬁméﬁﬂﬁﬂﬁfmﬂ’gﬁzélwa}m
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C18. Name four important movement initiated by Mahatma Gandhi that were used against tﬁe
Britishers in the |ndependence movements. (2 marks)




e e e

C20. What are genetically modified crops. Mention its implications in India. " (4ma
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Pt SECTION D
uestion D 1 toD 5 carry FOU :
marks each. i R marks each, Question D 6 to D

D1# Dsaa;n?&a:ma%%maia;aﬂtneﬁD1samn?&muaq'%iﬂﬂﬂiﬂi§l ‘
D1. Amit starts from town A for town B at 6. a.

al 80 kmph and meets Amit after traveling 60 km. If both of them reach their desti
the same time, what is the distance between the two towns.

SITT 91eT AT B @1 3wtz 60 o %l THAR A 910 6 a9 @i Bl & | fs

8 IBTA B 30 afereer 80 5. Fr. o) whan @ = & T & 3T 60 6.9, To & aia

;f?ﬁ:lfm% | 2T 1l s (qamer) W us € w gt g ® o 2 e @ die ey e

m. ata speed of 60 kmph. Vijay starts fra

D2. After 5 years the age of the father will be thrice the age of the son, whereas 5 vears a
was 7 times as old as his son was. What are their present ages in years?

qie e & are fOar @ 39 32 &t 9n & feE @nlt | dfe o ara geer Riar @ o9 a2 @)
A i T A | S A @ g oy guf f @ g 2

—— —————

D3. The average age of a class is 15.8 years. The average age of the boys in the class is 1
years and that of the girls is 15.4 years. What is the ratio of boys to girls in the class?

Ueh AT & BT 1 Sd 3Ng 15.8 ATl & | 37 § § 3! I S A1y 16.4 I & S0 wls
ol i amyg 15.4 arel & | e W asal o asfeal @1 arur & # ?

D4. Four electronic devices make a beep after every 30 minutes, 1 hour, 1% hour and 1 |
minutes respectively. All devices beeped together at 12 noon. At what time will the:
together again?

AN oA SUHl A e, ues Her, 3 Her, 0R & HeT - 31 W1 W Ay’ 3 @ 7
IUGAUI J UF AR HeE A ad A @l sl @ | fsas as el oo e g
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ST ST wfeftal § 20% (v wfRyow) g
& A He il b e ¥ 2

D6. A, B, CandD enterinto a partnership. A, B, C subscribe 1, % and % of the ca
and D, the rest.. If Ais also to receive Rs 1,20,000 as the manager, what is
in a profit of Rs 7,20,0007?

A, B, C 3t D et s amsiarll 9p6 @ & 1 A, B, C 9991 15, % 30T ¥6 W7 26
aﬂrarmﬁowrrm%|ﬂﬁmiﬁﬂ‘hmawr{mﬁ1,20,000@%&1%&%@72&,_ i
@i H D &l fBear w &2

—_— & e =¥ )

A D 7. An accurate clock shows 8 O'clock in the morning. Through how many degrees will
‘r hand rotate when the clock shows 2 O’clock in the afternoon?

Uch Hﬁﬂﬁaﬁﬂ Er?,ﬂ SCERS| ) a9 FT 9T Zomdl & | BT ar o Hj:aﬁ m % i
fe@rare g & fhas Rir & g wdy 2 :

D 8. The sum of two numbers is 45. Their difference is Yo of their sum. Find their LCM.

& @t &1 SIS 45 & | o @3N 1 3[TT S B %6 WIT & | I aged (LCM)

D 9. The selling price of an article is 5/ times the cost price. What is the percentage g

Ueh %] o1 [sbg-Ted 3a B0 o B Y4 AT B | ST - = e 2

D10. The difference between 35" of %43 of a number and 24™ of %™ of the same nu
What is the number?

foRelt T & 24 YT T 96 ST N ST AT I Ya W T 5 MIT &I 3T 288

- D 11. What is the number of spherical balls, each of radius 1 cm that c
' on cylinder of radius 10 cm and height 20 cm ?
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Posited Rs. 6000 in a bank at5% pera
‘at8% per annum compound interest. What is
by them after 2 years?

U IMHT 5. 6,000/~ Fe5 & 5% ufya qrem ST QT ST a1 | gt o

8% =ASH (compound interest) =T Wt 5. 5,000/~ 311 6 | @1 4G & arE 2T
e @ a1 ot qar & 2

D14. A sales man sold two pipes at Rs.12 each. His profit on one was 20% and the I0ss on

other was 20%. Then, on the whole what was the result of the transaction? Was it a gain ot
a loss, if so, how much did he gain or lose?

%ﬁmﬁ12mﬂfﬂ’ﬂﬁmma%1QEHQTG?IZO%(WLT%WIH)FETF{TUWHTGW{H% '
9T 20% I 31+ | &YeT &1 et afton aar e 7 @ 3 452w o 4t w2y ? afg ef, ar 39 feam
o fen A wif g | . -

D15. Study the following graph ( depicting production in thousand kg) to answer the given questicns

a) For how many years is the production more than 100 tons? S
b) What is the average of production over the given years? : A
fFr=tifene eranfasr (3wme 100 kg & frarar) geat FefiRad 99t &1 ot fafaw |
a) 100 T (Tonnes) & W&l U fhar auf Hgamd 2
b) 29y 14 Al @l Sfgd SO R 7 :
140 "_'_'_F"-:!_'_ = EEE -
120 B
§ 100 HEEHeeE
_::'E 30 B
£ 60

40
20

0 ¥
1998 1999 2000 2001 2002 2003 2004 2005 2006 2007

= R e PR R

Year

31
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